
NAME ________________________________

HOW MANY BEARS CAN LIVE IN THIS WOODS?

Bears are:       Carnivores       Herbivores      Omnivores        Detritivores         Decomposers         (Circle one)    

How much food did your bear find?

	Plants      
_______ pounds

Berries 
_______ pounds

Nuts

_______ pounds

Insects 
_______ pounds

Meat

_______ pounds


	The average food required for a bear for 10 days is:
              Plants      20 pounds = 25% of diet

              Berries    20 pounds = 25% of diet

              Nuts        20 pounds = 25% of diet

              Insects    12 pounds = 15% of diet

              Meat         8 pounds = 10% of diet


How does the food your bear collected compare to the average needed?


Less than needed

more than needed

about the right amount

Did your bear get a balanced diet?    YES      NO

If this amount of food collecting continues for several months, my bear will    SURVIVE     STARVE    

Total pounds of food in the environment = _________ (Check board)

Approximately how many bears should be able to survive if all the 


resources were divided evenly among all the bears?

    __________ adults and 2 babies
How many survived in this forest? _________

How many starved ?   _________

Did the mother of the cubs survive?   YES      NO

Did the baby bears survive?  YES       NO

Did the injured bear survive?     YES        NO

What type of interaction is at work in this simulation between the bears?  _________________________

Name at least 3 other things organisms have to compete for in an ecosystem BESIDES food.

____________________________________________________________________

Why do you think more bears died than expected? _____________________________________________

___________________________________________________________________________________

In an ecosystem (and this simulation) which bear(s) are more likely to NOT survive? 

__________________________________________________________________________________
EXPLAIN WHY?  _____________________________________________________________________

___________________________________________________________________________________
If your bear is not eating a balanced diet, what do you think might happen to him/her? 
(Don’t say it will die… most teenagers don’t eat the way they should and they aren’t dead.)

___________________________________________________________________________________

In real life, if there is not enough food, the mother bear will choose to keep the food for herself and let her babies starve. If the ultimate goal is SURVIVAL of the SPECIES, why might this be a good strategy? 
__________________________________________________________________________________

__________________________________________________________________________________

When a resource is in limited supply, it is can be a LIMITING FACTOR. 
What kind of limiting factor was at work in this Bear simulation?  __________________

How does a limiting factor affect a population of animals? _____________________________________

_________________________________________________________________________________
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Suppose a giraffe must eat 10 kg of leaves each day to survive.  The trees in an area can provide  100 kg of leaves a day and still remain healthy .Five giraffes could live easily in this area, because they would need just 50 kg of food a day. But 15 giraffes could not all survive—there would not be enough food.  No matter how much shelter, water, and other resources there were, the population would not grow much larger than 10 giraffes.  

[image: image2.jpg]



The largest population that an area can support is called its CARRYING CAPACITY. The carrying capacity of this giraffe habitat is 10 giraffes.  The size of the population can vary, but usually stays near its carrying capacity because of the limiting factors in the habitat.
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kg of leaves a day and sTill remain healthy .Five girares could Iive easily i This drea, because They
would need just 50 kg of food a day. But 15 giraffes could not all survive—there would ot be enough
food. No matter how much shelter, water, and other resources there were, the population would not
grow much larger than 10 giraffes.

The largest population that an area can support is called its CARRYING CAPACTTY. The )
carrying capacity of this giraffe habitat is 10 giraffes. The size of the population can vary, -
but usually stays near its carrying capacity because of the limiting factors in its habitat. 7
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Below i a graph showing the population of giraffe in this ecosystem. What is happenlnterpret the graph to
describe the relationship between competition, limiting factors and carrying capacity.
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At the left is a graph showing the giraffe population in this ecosystem. What do you think the arrow is 
pointing at in the graph? Add a vocab word to the line
provided.


EXPLAIN what you think is happening to the giraffe population during the A part of the graph? 
Be sure to include the words LIMITING FACTOR and CARRYING CAPACITY in your explanation.

__________________________________________________________________________________


__________________________________________________________________________________


EXPLAIN what you think is happening to the giraffe population during the B part of the graph? 
Be sure to include the words LIMITING FACTOR and CARRYING CAPACITY in your explanation.

_________________________________________________________________________________


____________________________________________________________________________________

FOOD COLLECTION SCORE SHEET
P-10   ____ X 10 = _______
     N-10  ____ X 10 =  ______
       M-4 _____ X 4 = _____

P-20  ____ X 20 = _______
     N-20  ____ X 20 = ______
       M-8  ____ X 8 = _____

TOTAL PLANTS = ________
     TOTAL NUTS =   ________
      TOTAL MEAT = ______

I-6    ____ X  6 =  _______
     B-10   ____ X 10 = ______

I-12   ____ X 12 = _______
     B-20   ____ X 20 = ______

TOTAL INSECTS = ________
      TOTAL BERRIES = _________

TOTAL POUNDS OF FOOD    = _________       
         TOTAL REQUIRED     = 80 lbs
      your bear collected





         TO SURVIVE

FOOD COLLECTION SCORE SHEET
P-10   ____ X 10 = _______
     N-10  ____ X 10 =  ______
       M-4 _____ X 4 = _____

P-20  ____ X 20 = _______
     N-20  ____ X 20 = ______
       M-8  ____ X 8 = _____

TOTAL PLANTS = ________
     TOTAL NUTS =   ________
      TOTAL MEAT = ______

I-6    ____ X  6 =  _______
     B-10   ____ X 10 = ______


I-12   ____ X 12 = _______
     B-20   ____ X 20 = ______

TOTAL INSECTS = ________
      TOTAL BERRIES = _________

TOTAL POUNDS OF FOOD   = _________       
         TOTAL REQUIRED    = 80 lbs

      your bear collected





         TO SURVIVE
HONORS BIOLOGY How Many Bears? worksheet


